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PART A: Yocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
| mark the correct choice on your angwer sheet.

10-

You might not be thinking about cholesterol yet, but high levels of cholesterol increase

your -----——— of heart disease, so find out what your level is now.

1) risk 2) level 3) strength 4) exposure

With the --—-v-- of the Internet, working from home has become a real phenomenon.

1) demonstration 2) credibility 3) advent 4) dexterity

The teacher was gratified to see two older students --——---- to settle the playground
dispute between a number of third and fourth graders.

1) raise 2) encourage 3} promote 4) intervene

Even though the unmemployment rate continues {0 ———-=-u- , voters are still unhappy with
the president’s economic plan.

1) restore 2) abandon 3) abate 4) delay

Her maudlin display of tears at work did not impress her new hoss, who felt she should
iry to control her -——- y

I} emotions 2) secrets 3) errors 4) restrictions

The heavy rain did not ——----—, so they cancelled their camping trip.

1) emerge 2) evaporate 3) subside 4) collapse

Whitney is —--—-- about her shoes, arranging thiem on a shelf in a specific order, each
pair evenly spaced.

1} spectacular 2) fastidious 3) conscientious 4) conventional

This agreement is very -------— and open to various interpretations,

1} intentional 2) diverse 3) superficial 4) ambiguous
Because our instructor was so vnclear, 1 ad to continually ask him {0 =====---- and
repeat what he was saying.

1) justify 2) clanfy 3) emerge 4) improvise

Because of the chels ---—-—-- cooking style, his food is easily identified in a taste test.

1) experimental 2) flexible 3) distinct 4) constant

IPART B: Cloze Passage

I Directions: Read the following passage and decide which choice (1), (2), (3). or (4) best fits
leach space. Then mark the correct choice on your answer sheet.

Remembering the past is an integral part of human existence. Without a good memory,
you would not be able to drive to work, hold a meaningful conversation with your

children, (11) <menm- - a book or prepare a meal.

Memory has fascinated humans since (12} =-==-ene- : Plato famously compared our
memory to a wax tablet that is blank at birth (13) -—----- on the impression of the
events from our life. Only in the past hundred vears. though, (14) ---—--- -- systematic

objective techniques that have enabled us to study our recollections of the past with
scientific accuracy and reproducibility. These range from laboratory tests of our ability
to remember verbal and visual materials (15) =eeemeeee more recent brain-imaging
approaches.
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11- 1) then read 2) reading 3) to read 4) read
12- 1) ancient fimes 2) ancient time 3) time of ancient  4) times of ancient
13- 1)slowing taking  2) to slowly take 3) and slowly takes 4) that slowly takes
14- 1) psychologists have developed 2) have psychologists developed

3) with psychologists developing 4) for psychologists to develop
15- 1) with 2) from 3)in 4) 10

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet

PASSAGE 1:

One of the themes which runs through the account of ethics in Islamic philosophy
15 the conflict between two kinds of ethical systems. The moral life of human beings
takes place on two different levels, one of which is secular, social, polifical and
physical, while the other is spiritual and religious. When we think of Aristotelian
ethics in terms of the doctrine of the mean then we are ifunking of fulfilling the
commandments and establishing appropriate rules of behaviour for our social life.
When we think of moral behaviour in terms of intellectual union with God, in terms of
moral and intellectual perfection, then we are concerned with the rules of behaviour
appropriate to that spiritual end. There is often taken to be a progression of stages on
the way to perfection, with the ultimate aim being knowledge of the supreme bemng.
Once this knowledge 15 attained, 1t 15 closely connected with the happiness of the
knower—when he knew God with a certain knowledge, he admitted that true happiness,
which 1s the knowledge of the deity, is guaranteed to all who know Him', Yet this state
of knowing God can be interpreted in dilferent senses, s it a matter of something hke
personal knowledge? Does it require moral perfection first? Can only someone skilled
in philosophy and demonstrative thought really know God?

16- According to the passage, the social and the physical aspects of humans™ moral life
1) take place on the same level
2) determine the spiritual and religious aspects
3) distract people from intellectual perfection
4) represent a contlict between two types of ethical systems
17- Which of the following is true of the doctrine of the mean?
1) It 15 related to the intellectual union with God.
2y It 1s an Islamic doctrine about Aristotelian ethics.
3) 1t 1s a system of explamming social phenomena.
4) It 1s concerned with the rules of behavior appropnate to our social hife.
18- The author mentions all of the following about the spiritual level of humans™ moral life
EXCEPT ------——o- -
1) the knowledge of God is its ultimate aim
2) progression in this level can lead to true happiness
3) it is concerned with moral and intellectual perfection
4} 1t 15 mastered by studying the attributes of the supreme being
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19-

20-

21-

22-

23-

24-

The word "attained" in the passage is closest in meaning {0 ————-——— -,
1) applied 2) approved

3) obtained 4) acclaimed

The guestions at the end of the passage are abouf —=—-—m-eeeee-- .

1) what the true state of happiness is

2) how the knowledge of God can be interpreted

3) what the interpretation of a true state of happiness requires

4) how personal knowledge can lead to the knowledge of the deity

PASSAGE 2:

Although introspectively familiar, it is hard to exactly pinpoint the nature of the
specific relation that we have with our body. What makes our body so special may be
that unlike other physical objects, not only do we perceive it through external senses,
but we have also an internal access to it through bodily sensations. One way to
characterize the relation that we have only with our body (or what we experience as
our body) 1s thus to say that only our body appears to us from the inside. In contrast,
many bodies, including our own. can appear to us from the outside. The duality of
access to our body is best expressed in what is known as the touchant-touché
phenomenon. When we touch our knee with our hand, we have a tactile experience of
our knee from the outside (touche), but we have also a tactile experience of our knee

from the inside (touchant), and the same is true of the hand.

Despite the constant flow of information about our body from the inside. our bodily
awareness 1s surprisingly weak. While typing on a laptop. we do not vividly
experience our fingers on the keyboard. Our conscious field is primarily occupied by
the content of what we are typing, and more generally by the external world rather
than by the bodily medium that allows us to perceive it and to move through it. We use
the body, but we rarely reflect upon it. The body has thus this peculiar feature. It is
always immediately present to the subject, but the most permanent and preponderant
object in life may also be the most elusive one.

What is the best title for the passage?

1) Bodily Sensations 2) Introspective Familiarity

3) Our Odd Relation with Our Body 4) Touchant-touche Phenomenon
The anuthor mentions touching our knee as an example of ——-—--—-—-——-,

1) our tactile experience 2) the contrasts i our body

3} the touchanl- touche phenomenon 4} the dualism of mind and body

According to the passage, which of the following is so special about our body?
1) We cannot sce 1t but we can perceive 1t

2) We can feci it both from the outside and from the inside.

3) It 1s only our body that can be perceived through external senses.

4) Unlike other physical objects, it can be accessed through all the five senses,
The word "it" in paragraph 2 refers to ——---- X

1) typing 2) the bodily medium

3) the external world 4) our conscious field
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25-

26-

27-

29-

According to paragraph 2, why do we rarely think about our body?

1) We are mainly occupied by the external world.

2) Our body has many peculiar features,

3) Our conscious field is not capable of frequent reflection on our body.
4) We do not reflect on things that are immediately present to us.

PASSAGE 3:

As an employer, one might find himself faced with the reality of thinking about
hiring a physically disabled person. One thinks if he could hire someone with the same
skills, but without handicap. why should he pick the disabled person?

There are benefits to hinng disabled people, one being that physical disabilities
don't always mean any mental disabilities. They can be severely physically disabled
vet hold a brain to rival anyone of us; in fact many would excel. Physical disabilities
often make people try harder in order to make them stand out from everyone else.
They will also not be able to leave home too often and may study more as a result, a
controversial view but possibly true. They will want to stand out if they can and should
be allowed to if possible.

In fact, employing someone who is disabled may benefit one's company in ways
that aren't as obvious. One may show himself mm a good light to stall and other
companies; he may even get grants from local authorities for employing a disabled
person. His competitors will see him as an employer that employs the right person for
the job regardless of the person. The company employees will see him as someone
who has no prejudices and wants the right person to work with him. The person that is
emploved will want to blend in with staff, will want to be part of the team and will
want to prove himself to the company as a whole.

What does the passage mainly discuss?

1) The reasons for employing a disabled person

2) The benefits of being a disabled person

3) The difficulties of hiring someone who is disabled

4) The ethical issues of providing jobs for the disabled

According to paragraph 2, which of the following is true of the disabled people?
1) Their physical disabilities give them extraordinary mental capabilities.

2) Their brain may function even better than ours.

3) They may engage in rivalry with themselves to conceal their physical disabilities.
4) They are often mentally disabled as well.

According to the passage, the disabled can stand out from others by ---————-——-,
1) trying harde 2) not leaving home

3) not having mental disabilities 4) having physical disabilities

Why does the author mention “get grants™ in paragraph 3?

1) To explain how the local authorities support the disabled

2) To give an example of the financial helps that the disabled can receive

3) To explain what the right person can gain for a company

4) To give an example of the benefits of hiring someone who 1s disabled
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30- It can be inferred from the passage that ——--——- 3
1) someone who is disabled has no prejudices against others
2) a team of disabled people can best prove themselves to the company

3)if a company employs a disabled person. its competitors will start doing so as well
4) employing a disabled person positively affects how the company employees think

of their employer
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